September 16, 2019

I5. (a) Find symmetric equations for the line that passes through

the pointi._ =3, 6) and is parallel to the vector
(—1,2,-3).

(b) Find the points in which the required line in part (a) inter-
sects the coordinate planes.
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67-68 Use the formula in Exercise 43 in Section 12.4 to find th ‘&\-.-. <\ 3' 47?7 2 \o‘,?
distance from the point to the given line. J _\,kQ)/
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(a) Let P be a point not on the line L that passes through the e’
points Q and R. Show that the distance d from the point P

to the line L is Qr
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where a = Q_R> and b = Q_I; o

(b) Use the formula in part (a) to find the distance from \ Q - ‘ -~ _b ,
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the point P(1, 1, 1) to the line through Q(0, 6, 8) and
R(—1,4,7). . . ‘
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